. - s -
=l BB S e L

~ In the Same
 Let us multiply 4.18 by 5
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1. Find the product.
(@) 03 x 3 (d) 0.005 x 15

(b) 0.3 x4 (e) 2.4 x 23
(c) 0.412 x 2 (fy 16.3 x 17

2, If 3,485 x 16 = 55,760, find-
(a) 348.5 x 16 (c) 3.485 x 16

(b) 34.85 x 16 (d) 0.3485 x 16

(g) 71.8 x 248

(h) 7.37 x 56

(1)

1.001 x 96



1. Find the product of the following:

(@) 0.2x0.3 (d) 8.1x53 (@) 824 x 19.7 A

|

(b) 0.5x 0.4 (e) 3.4 x236 (h) 13.62 x 35.1 .
(c) 3.1x004 () 10.15x10.04 (i) 10.05 x 0.6

2. f1,135x72 = 81,720, find the value of:
(8) 135x72  (d) 1135x 72
(b) 11.35x7.2  (e) 1.135x 0.70 |
() 11.35x072 () 0.1135x 0.7 '



16.846 x m_t;g = 16346!0
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1. Find the product orally.

(@) 0.2 x 10
(b) 1.18 x 10
(c) 13.293 x 10
(d) 16.25 x 100
(e) 4.02 x 100

(f)y 19.32 x 100

(g) 71.821 x 1000
(h) 45.01 x 1000
(i) 0.1x 100

() 7.538 x 100



12x38=456 pr
38x12=456] M
Multiplication of a decimal number by one

3.29x1=329
19.3x 1 =193

Multiplication of a decimal number by zero.
24x0=0
13.182x0=0

1. Complete the following:
(a) 5.8 x6 = E IxE.B

(b) 0.8 x0

| |x15.6 =156

—

0 Ulx1=47

x 3.4 (9) :-:1_8:15.5):
(d) 1326 x| [=13.26

- (h) 95.601 x : 0

() 9.3 x|3 Y
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1. Solve the following word problems.

(@) Renu needs five pieces of ribbor
of ribbon needed? A

(b) One Mathematics book of Class-V
such books? j(‘

(¢) It needs 2.75 metres of cloth to stitch one shirt. What is the total length of
ﬁf cloth needed to stitch six such shirts?

?@} The weight of

costs ¥ 75.50. What is the cost of 15

one chair is 3.75 kg. Find the weight of three dozen chairs.

(8) The cost of one kilogram of mangoes is T 65. Find the cust\ﬁ
2.5 kg mangoes.

(f) A bag has 85.7 kg wheat. How much wheat will be there
bags?
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We get, Quotient = 2.28, Remainder =0
Example 3: Divide 0.695 = 5
Solution: Here, dividend = 0.695, divisor = 5 !
Thereisno | ——— Decimal point will come
- Whole number. 0:139 directly above the decimal
5) 0.695 pointinthe dividend. ;
= 51
=
= B,
45
~ 45
0

We get, Quotient = 0.139, Remainder = 0



1. Divide the following:

(@ 05 =+ 2 (f) 12.06 = 12 2005
(b) 34 + 4 @) 92 =+ 16 ﬂﬂ'@f‘"’jL
{c) 126 + 5 (h) 375 + 6 & 3 L %{k;
(d) 6.05 - 25 i 85 =17 el ‘::i
(e) 11.7 + 6 i) 144 = 12 t?;f; 764



1. Find the quotient orally.

@) 1.7+ 10
(b) 49 = 10

(c) 19.2 = 1000
(d) 57.98 - 100

(¢) 601.8 - 1000

() 44.81 ~+ 1000
(@ 1.3 + 100
(h) 256 + 1000
(i) 1485 =+ 10

() 708.13 = 100

2. Fill in the boxes. The first one is done for you.

(a) 65 = [10 - 0l6s
(B a7 o = 0.37
(c) 15.81 = ]:'=1.531
(d) 8.19 =+ = 0.819

Decimal has shifted one place to the |eft.

(&) 771 - Z
@iige2 = E

(@) 7103 - E
Thos

= 0.771
=10.362
= T.108
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1. Divide the following:
(@ 28 = 07

632 08
() 0.75 = 0.15
@ 56 =+ 14
() 0993 = 0.331

(b) 3.6
(d) 85
(f) 1.25
(h) 1.44
() 25.925

+ 04
+ 1.7
+ 2.5
= 1.2
+ 0.425




Example 9:

Solution:

§ T ]
b

- 36x100
¥ 045x100

Divide 65 by 0.013
65
0.013 i

_65x1000
~ 0.013x1000

_ 65000

———

13 .
= 5000 4



! —==
*‘;ﬁ'
F 4
i ras
0
i e
 d
juisi
on ti
I
you
get




()

< Convert the following into a decimal number.

1

ra}121 (c) 1-8-;1- (214 > (9)
3

)54 (0 45 0 43 (h)

PROPERTIES OF DivisiON OF DEclml. NUMBERS

Division of a decimal number by one,
48+1=48

0.059 + 1 = 0,059




o

= 03~ 03x10

4. Fill in the boxes.

(a) ggs = 1=

(b) |+ 0.3=1

—

(c) 04+04= L

(d) | 5&—5.1:0

I
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03 _03x40 9

(&) 0% 194 =\j
(f) 1u.5ns+Ej=1
mi[:::}4=1&me
m}{:::]+132=0




One ball costs T 2.25

1. Solve the following word problems. J
(@) 12 tins can hold 39.624 litres of oil. How much oil can one tin |
(b) Cost of 23 m of cloth is ¥ 608.35. Find the cost of one metre dq!

(c) lhave a 7.5 m long ribbon. | want to cut it into 1.5

m long pie
many pieces will | get?



. anju was excited when she- g )
| woke up in the h'mmlng e )
~ was her birthday! Her parents
_asked her what gift she
would like to have. She told
her mother that this time she
wanted to distribute sweets
to the poor children near tha
temple. Her parents were very
happy with this thought. They
bought 25.625 kg sweets
and distributed amongst 25
children near the temple. Manju and her parents were happy to see smiles on the
children's face.

1. How much sweets did each child get?

2 What quality of Manju is exhibited here?

3. Suggest two different ways in which you can celebrate your birthday as Manju
did.

Brain Teasers

1. Tick (v/) the correct answer.

(a) 456.2 - __ = 4,562
(i) 10 (i) 100 (iif) 1000 (iv) 10000
(b) 2.5 x 1000 x .1 = | 5
(i) 25000 (ii) 2500 (iii) 250 (iv) 2.500
0.02, 0.002 i5—

(c) The product of 0.2,

(i) 0.08 (ii) 0.0008 (iit) 0.000008 (iv) 0.00008
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(a) 3.5 x 10

(b) 1.5 x 1000

() 75x[ ]

(d) 95.65 x

(e) 53.09 = 10
7. Divide 1010.101 by 1.01

to be given 0.5 kg toffees, how many children get the toffees?

9. Mr Ajay purchases 3kg tomatoes at ¥15.50 per kilogram and 5.5kg
at ¥ 22 per kilogram. Find the total amount spent in all.

10. Which of the following have 15 as quotient?

(a) 0.075 + 0.5 (b) 0.075 + 0.005

n

I

L

—
—_

(¢) 0.75 = 5
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